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SN SANBRAC
HE: DERLAY
=R SEOREXE EERED)
SA - BH - SRI(B) - MRAR - BAS Ofl st e HIDEY
NEME0l FAE2HS
2,700& 27,500’ 74,250
HY2AZH(SASEREY) 2,850 12,015 N9, 165
Jl=3H| 2,850 4,740 21,890
JI=2&H] 2,850 4,740 A1,890
201 Let2d| 150 800 AB50
01 At2keltl 150 800 A650
NENA2S ARl 150,000« 1 150
202 O] 400 1,600 1,200
01 =LHOAHI 400 1,600 21,200
NEA2E Ul 50,0002 «1H+83] 400
203 ZR =2 2,300 2,340 A0
02 H3JtaHH 22| 200 240 A0
1)1002l0lct 40,0003 +5H 200
M FANEIHR=A| 2,100 2,100 0
1)102!0l5t 175,000& 122 2,100




